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MATHEMATICS CLASS TEST

TIME: 1.5 HR

MM: 100

This paper contains 25 multiple choice questions. Each question has 4 choices (A), (B), (C) and (D), out of

which ONLY ONE is correct. MARKING: (+4, -1, 0)

1.

The order and degree of the differential equation

2/3 3
(1+3ﬂj = 4d_y are:

dx dx3
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d’y
The solution of the equation — = e X is:
dx
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The differential equation of all non-vertical lines in a
plane is:

d? d?x
(a)—;/:O (b)_2:0
dx dy
dy dx
c) —=0 by —=0

()dx ()Oly

The degree and order of the differential equation of the
family of all parabolas whose axis is x-axis, are
respectively:
(@11
(3,2

(b) 1,2
(d)2,3

The solution of the differential equation
-1
(1+y2)+(x—etan yjd—yzo , is:
dx

@ (x-2)=ke ~tan ty

(b) 2xel® Y g2t Y i

(c) e tanty _ gn-1 y+k

(d) XeZtan_ly :etan_ly Tk

function y=f(x) has a second order derivative

£//(x)=6(x—1). If its graph passes through the point
(21)and at that point the tangent to the graph is
y =3x-5 , then the function is:

(@) (x-1)?
(©) (x+1)°

(b) (x-1)°
(d) (x +1)?
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The differential equation for the family of curves
x? + y2 —2ay =0, where a is an arbitrary constant is:

@ 22 -y? )/ = (0) 2% +y2 ' =y
@2y ) =2y @ eyl =29

The solution of the differential

ydx+(x+x2y}1y:0 is:
(a 1t C
Xy

equation

(b) —i+logy=C
Xy

(c)%ﬂogyzc (d) logy =Cx

The differential equation representing the family of

curves y2 = 20(x+\/5), where ¢ >0, is a parameter, is

of order and degree as follows:
(a) order 1, degree 3
(c) order 1, degree 2

(b) order 2, degree 2
(d) order 1, degree 1

If x % =y(logy—logx+1), then the solution of the
X
equation is
@ Iog[lj =cX (b)
X

X
Iog(—] =cy
y

©y Iog(ij =cX
y

The differential

AxZ + By2 =1, where A and B are arbitrary constants
is of

(a) second order and first degree

(b) second order and second degree

(c) first order and second degree

(d) first order and first degree

(d) x Iog(yj =cy

X

equation  whose  solution s

The differential equation of all circles passing through
the origin and having their centers on the x-axis is

dy
dx
dy

X

(@ x*=y®+x

(b) x2 =y2+3xyd—
(c) y2 =x2 +2xyﬂ
dx
dy

@ y?=x*-2y
X
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The normal to a curve at P(x,y) meets the x-axis at G.

If the distance of G from the origin is twice the abscissa
of P, then the curve is
(@) anellipse

(c) acircle

(b) a parabola
(d) a hyperbola

The solution of the differential equation j—z
X

satisfying the condition y(1)=1is

@ y=Ihx+x 2

x-1)

(b) y=xInx+x
(c) Y=X5‘( (d) y=xInx+x

The differential equation of the family of circles with
fixed radius 5 units and center on the line y =2 is

(8 (x—2)y’2 =25 (y-2)?
() (y-2)y'? =25-(y-2)?
(©) (y-2)?y'2 =25-(y-2)
(d) (x-2)2y2 =25 -(y-2)?

he differential equation which represents the family of

curves y=cqe%2* where ¢; and c, are arbitrary
constants, is

(@ y' =y? ) y" =y'y

2
© yy' =y @ ' =ly')
Solution of the differential equation

cosxdy = y(sinx —y)dx, 0<x <g is

(a) secx=(tanx+cly
(c) ytanx =secx+c

(b) ysecx =tanx+c
(d) tanx = (secx+cy

Let | be the purchase value of an equipment and V(t) be
the value after it has been used for t years. The value
V(t) depreciates at a rate given by differential equation
d\d/_ft): —k(T —t), where k > 0 is a constant and T is
the total life in years of the equipment. Then the scrap

value V(T) of the equipment is:

5 1 kT2
@T K (b) 1 B
2
© 1 ——k(T; J (d) e KT
If % =y+3>0 & y(0)=2 then y(In2) is equal to :
(@7 (b) 5
(c) 13 (d) -2

The solution of the differential equation (x? —y?) dx +

21

22.

23.

24.

25.

(2]

2xy dy =0 is-
(@) x2+y?=cx

(€) X2 + 2xy = y? + ¢cx

(o) x2—y2+cx=0
(d) X2 +y? = 2xy + cx?

. The differential equation, which represents the family of
plane curvesy = e>, is-

@y =cy

(b) xy’ —logy =0

(c)xlogy =yy'

(d)ylogy =xy’
The degree and order of the differential equation of the
family of all parabolas whose axis is x - axis, are
respectively-

(@23 (b)2,1

(©1,2 (d)3,2
The differential equation for the family of curves
X2 +y? —2ay = 0, where a is an arbitrary constant is-

@ 20¢-y)y' =xy

(b) 2(x*+y?)y" =xy

(©) (C-y?)y =2xy

(d) (x* +y?) y" = 2xy
The differential equation of all circles passing through
the origin and having their centres on the x-axis is-
@x2=y2+ xyd—i

dy
b) x2 = y2 + 3xy —=
5 (b) y Y ix

©y =+ @yz=xz-ay Y
dx dx

Ify' =y + 1andy(0) = 1, then value (s) of y (¢n 2).
(a) 2 (b)3
(c)4 ()5



